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_�$�����$ � �������� �������	����$ ����	�$ ��
��� 	 ��$� �#��
�$ �
��	����� /� `abcd`aa� ���
��/	���� ����#��� 
�� 	�%��� 
�/�������	 -e�
�
�	�$ � �
�! ����! ����! ����.� f
�/�����! #��
����	�� ��
����#����� � ���  ���� ���� ��� ������������ ������ /� ���
�����$ -�  ��������$
M < 5.0.! � �� � 
�������� � ,�� ��
���� 	 ��	�
�� � �%�� ������
��� �� �� �
��������
��#�� 	 �
���	���/� �  �
�� ����� #���� ���#
�	 	  �����$ /� ��"	������$ ��/��� g�� ��	�
�"
�%��� ���  ��
�� ����������� ��� 	��� ��
�� � ������ ��������
�	� � �� %� 	
� � �� ��$����
/�	��� ���� ��/� ����	�$ 	���� �� ����
���#��
�$ �������� f���
�%��� ��
%�! #�� ��
��� P = 1
��� ��#�� 	���� 	�
�%�� �� �
����� ��
���� - φ ≈ 38◦ − 61◦ . 	 ����� ������
����

e���	�� ��
����#����� 	 #���� �����	���� ������ /� ���
�����$ �
����%�	����� �� ����
� ���
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�
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��� �	�$��	� ,���� ��
���� ��
%� ���
�������� h�#�� 	���� ��
�
��	������ ��� 	���
������	�� /� ���
�����$ -e�
�
�	�$ � �
�! ���b.�

��
�/���! #�� �������� 	�
�����$ �
�#���$ ��
���� P = 1 ��� 	 ��$� �#����� �	������ ��/��"
��� �/ ������ ����	���  � ���� � ������ �� ����
� -� ������ 	��
�	. -e�
�
�	�$ � �
�! ����.�
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i/ ������ ��� �
�  �����#��
� 	/�� ���$��	�� � /� ��$ 
�
�$ � 	������ �� �
����#��
�� ��#�"
���  ���� 	�/�	��� �/ ������ �
�
���� �	�%���� �������
��� ����! #�� 	 �	�� �#�
��� �
�	����

 ����	�$ 	�
����� #���� /� ���
�����$�

(���
�  � ������� �� 	��	��� ��������� -�� �
�	����� � �������
�� � ����� �. 
����"
�� �� ��! ��� ����	�$ ��
��� 	 ��$� �#����� �������� 	�
�%��� j��� ,��� ��
��� -���. 	�/	��
	���
�����	� � 
�������� � �
�
���� �	�%���� ����! �� ��
�� �#���
� �������
�  �%�� ��"
�� �� 
��� ��
�	��� 
�
 ����
���
�! ��� ,�� 
�������� �
�������� � ���������$ � �������$�
g�� ������/�  �%�� �
�	�
��� ���� �
� �� �/ �
���$ �
� �� �0� 
��������
��
� ��
�� ��
�	�
�������$ ��/�$ -k)l'.! 3?7"�
�� ��
�	 � ��/�
��$ ��
����$ ������
�	�
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� 
�#���	� ��/� ������ 	�/� � ! 
�
 � �
�%�� -e�
�
�	�$ � �
�! ����! ����! ����! ���b.! 
������
/� ���
�����$ e������#��
�$ ���%�� )m+ /� `abcd`aa� ��� -_��� i��� n���
! `a��d`aa�.� k��"
� ��
�	��� ���� ���� ������ /� ���
������ �  �������� � M = 3.0 − 4.7! ��� 
���
�� ����	�$
��
��� ����������� �������� ��#����	�� )�  �
��� #���� ��
�� ���#
�	 -� �������$ ��������
�	
H ≥ 1 
 .! �
��/������� 	� 	��  �
� � 	������� 	 
������! 
�	�� N = 71560 -N = 48402 	
��	�
�� ������
�� � N = 23158 d 	 �%�� .�

� 
�#���	� ��
�
��
����
� ����	��� ��
���� ���� �
��� ��� �
�	��� ��������#��
�$ /��#� �"
��� 	 ���
�
�  �0�����! ��
������ �$ 
�
 -(�
���%! `aa�.&

q = exp(− A2

A2
cp

). -`.

o���� q ���� 	�
�������� ���#�$���� ���	����� ����� � ��
 ���#��
�$ � �������$ A �� ����
�
������ /��#���� 
	��
���	 � ������ -A2

cp. ��
�����
�  �! 	�#��������� 	 ��
���
�$ ��  ��"

�#��$ -������������ ,��$ �����. �

��������� ��,�� � #�  ����� q! �� 	��� /��#� ���� -��"
���	�
�����. ��
� 	 ���
�
�� '���� ���
���� �� ,�� �/��%��� 	 -e�
�
�	�$ � �
! ����.�

� ������� ` �
�	����� ��������#��
�� /��#� ���� q ����	��� ��
���� 	 #���� �����	���� 
��"
� ��
�	�� �� /� ���
�����$! 	�#�������� �� ��
 ��� -`.! ��� 	��$ �� �� 	 ���� � �������� ��
������
�� � �� 
	��
���� � (� %� ���� ��/�  �
�� � � α ����	�$ 	���� -��/� ���#���	�����
�� ��#��� ����. � 
���#���	� ���#
�	�

������� ��

'��(���������� ����� % )��� *��$�
&�$(���� � ��������� ������!��� ���$������ �"�

λ q α N

�	
 ��
�


−180◦ − +180◦ 2.3 · 10−5 133◦ 71560

�������� ���������

−180◦ − +180◦ 1.0 · 10−8 114◦ 48402

−180◦ − 0◦ 1.8 · 10−3 114◦ 17819

0◦ − +180◦ 1.6 · 10−3 114◦ 30583

����� ���������

−180◦ − +180◦ 1.3 · 10−3 221◦ 23158

−180◦ − 0◦ 9.0 · 10−3 199◦ 11337

0◦ − +180◦ 1.9 · 10−2 247◦ 11821

_�	���
�� /��#� ���� ��
���� P = 1 ��� 	 �%�� ������
�� ������	���� ���	�� ��
�/� 
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 ��� #���� /� ���
�����$ -	 
�������. �� �
����� ��
���� �/"/� �� �����$ 
�����
����� _�
� ���� �� �
����� ��
���� ,��� ��
��� �������� /��#� -e�
�
�	�$ � �
�! ����.�

l�� 	��	����� ������������ ��������� 
������	 -�������$.! ��� ����	�$ ��
��� 	 ��$� �#"
����� �������� 	�
�%�� -��� q  ���.! 
�/���� 	�� ��	�
������ �� �� �� �#���
� � �
������$
�� ������� ∆λ = 10◦! � �� ��
��� �� �
� #���� -	 ����� ������
���.& ��/
���
����� -∆φ =
0◦ − 38◦.! �
������
����� -∆φ = 38◦ − 61◦. � 	���
���
����� -φ > 61◦.� � 
�%�� �/ ,���
�#���
�	 ��
����� ��������#��
�� /��#� ���� ����	��� ��
����� (� ! ��� ,�� /��#� ���� �����
�������#�� /� ����$! ����� 
����
��� -��� ��%���. ,�� �#���
� #�
�/ 1◦ �� ��
��� � �������!
����	���� ��� ������� /��#���� q� (�
� �������  �%�� 	������� �������! ��� ��
��� P = 1
��� 	 ��$� �#����� ����������� �������� ��#����	��

� ������
 ������ � �����
� ������� ������ ������������ �	������

�
�	���

� ����� � �
�/��� 	��	������ �� � ������� -
������. �� ��! ��� ��
��� P = 1 ��� 	 ��$� �#��
�$
�
��	����� �������� 	�
�%��! �� �� /��#���� q  ���� g�� ������� ��
���#��� �
�/���� � ����
"
	��� � ��
�� � ������� (� %� �
�	����� #���� N /� ���
�����$ ��� 
�%��$ ������� � ��/�
 �
�� � � ����	�$ 	�����

������� ��

'��(���������� '��(���������� ����� % )��� *��$�
/������ &�$(���� � ��������� ������!��� ���$������ �"�

φ λ q α N

�������� ���������

0�$�� 
 � 1!�2��
37◦ − 46◦ ��/� 20◦ − 30◦ ��&� 6.2 · 10−4 118◦ 3385

3���/��� ��-&! 4���� �" � 5- �" 6������"
0.1◦ − 15◦ ��/� 80◦ − 90◦ ��&� 6.9 · 10−4 137◦ 1260

3������ � 6�(� ���� � 4��& �� 6���
25◦ − 43◦ ��/� 61◦ − 71◦ ��&� 2.8 · 10−3 115◦ 1294

6$���� � 6$�!����� �������
49◦ − 65◦ ��/� 177◦ − 180◦ ��&� 4.8 · 10−3 102◦ 5183

180◦ − 149◦ ��&�

�!��$%���� �������
43◦ − 58◦ ��/� 150◦ − 160◦ ��&� 1.7 · 10−2 122◦ 1188

0�$%/�� 6 ��$%���� �������
10◦ − 23◦ ��/� 60◦ − 79◦ ��&� 1.7 · 10−2 129◦ 715

#�� ������ �
/�.������$�  
� ��$���� ����� �(� .�$!/����
6.3 · 10−10 113◦ 13025

����� ���������

3��! � ����� �� ����% *�$�
1◦ − 33◦ 7�/� 71◦ − 80◦ ��&� 1.6 · 10−3 194◦ 1866

8������ 4�$��� ��
 � 	��
� '����&

0◦ − 23◦ 7�/� 148◦ − 172◦ ��&� 1.4 · 10−2 243◦ 5176

5- �94� &�����
 �������
54◦ − 61◦ 7�/� 20◦ − 30◦ ��&� 1.6 · 10−2 288◦ 180

#�� ������ �
/�.������$�  
� ��$���� 7- �(� .�$!/����
1.8 · 10−3 231◦ 7222



:�� #�$%��� � &��

������� ��

����� % )��� *��$�
� ��������� ������!��� ���$������ �"�

q α N

�������� ���������

2.6 · 10−4 114◦ 35377

����� ���������

5.6 · 10−2 211◦ 15936

f������ p'��
��� � (�
���q 	
��#��� 	 ���� /������� #���� (�
���! e
����! +������! '��"
��
��! k� ����! #���� *�����	�� � r�
����� � ������� p��
����
  �%�� )�	�
��$ � *%��$
+ �
�
�$q 	����� e����
��! )��")���	���
! _�
�
����! r����"k�
� � ���� ��

_� 
��� `! 	/��� �/ -)�$��
�! `aa`.! �
�����	���� 
�
�� �� �� � �/��
�%���� � �� ��$ ����"
���
�� � ����� � � �� �
����� ��

i/ 
��� ��
���� 
��� ` � ����� � �������! #�� 	�� 	��������� ������� 
������%��� 	���/� /��
�����
���! �� �� �� ! ��� ���� �������
��� ����� ����	������� -���
�%�����. ��� �
���� -� �����"
���0� �� 
�����	����� 	 ���������
�.! ��� 	 �#���
�� 
�������������$ 
�
�! ���	�
���0� ��
�
��	�� � 
�/�� ���
�/�	����� f���
� ��
����� ��	�
�� d �� 	�� ��
�� 
������ ��
�/�	��� #��
�
	�
�%����� ����	�� ��
����#����� 	 ��$� �#��
�$ �
��	������

_��������� /��#� ���� ��
���� P = 1 ��� ����������� 	 	��	������ 
������� 
�����������"
��$ 
�
� � �
��	�� 
�/�� ���
�/�	���� -����� �.�

j��� ��s������� 	�� 	��	������ 
������ -�������� ��� ��	�
���� � �%���� ������
�$.! ��
��������#��
�� /��#� ���� ����	��� ��
���� �����	���� /� ���� 	���! �������� 	 ��	�
�� ����"
��
�� -����� �.� � �	�/� � ,�� �#��� 	�%�� 	�������! ���
������ �� ����	�� ��
����#����� �
�
��
��#���� ,��� 
������	 �/ 
��� ��
���� ���������$ ��$� �#����� ������ /� ���
�����$t

� ����� � �
�	����� 
�/������� ��
��� 
��� ��
�����
i/ ����� � �������! #�� ��� ��	�
���� ������
�� ��
��� P = 1 ��� ��#����	� ����������� �

�
� ��
��#���� 	��
����� 
������	� f���
� 	 �%�� ������
�� �� �����	����  ���/� ���� �

� �	��������

���	���� a ������������ ��������� 
������	 �� ��! 	 
���
�� ����	�� ��
����#����� ��$� �#��"

�$ �
��	����� �������� 	�
�%���! �� �� � ��� ���������� /��#� ����� ��� ,�� 
������ -�������.
��������� 
 /��� �����
��� ��� 
 �#���
� 
�������������$ 
�
�! ���	�
���0� �� �
��	�� �

�/�� ���
�/�	����� f�� 	����� ���������$ 	
��� 	 ����	�$ ��
���! ���� #���� ���#
�	 X 	 ���
�
����/������� 	 �	�"�
� 
�/�  �����! #� 	 ��������$ #���� /� ���� ��
��

� ��	�
�� ������
�� ��
��� P = 1 ��� �	�
���� ����������� � �
� ��
��#���� 	��
�����

������	� g��  �%�� �/��#���! #�� ��/����� ��
����#����� � ���  ���� -��������#��
�. ��#��
��� 	��� ��$� ��
��	��� �������$ ��	�
���� ������
��� e���	�$ ��
��� ��$� �#��
�$ �
��	�����
�%���� ������
�� 	�
�%�� /��#������� ��%�� �
�#���$ ,�� �  ���� ����&  ���� #���� -	 
�"
������. /� ���
�����$ � M = 3.0 − 4.7 �� �
����� ��
����! ��� ��
��� P = 1 ��� �
��	������
��#�� 	���� -e�
�
�	�$ � �
�! ����.! � �
���������� ��	�
������� �
���� �������
��� ����!
��� ,��� ��
��� ��� ���� /��#� -e�
�
�	�$ � �
�! ���b.� l�	�
������� �
����� -/��� ��
������.
��
�
��
�/����� 
����
���� -
����%���� . �
����#��
��� ��� 	 �
������"�
����#��
�� �
������

u� �
���
%�	�� �� ��#
� /
����! #�� ����	�� ��
����#����� ��$� �#��
�$ �
��	����� ����"
��	���� 	���
�����	� � 
�������� � �
�
���� �	�%���� �������
��� ����� ��,�� � 	��	���"
��� 
������  �%�� 
��� ��
�	��� 
�
 ����
���
�! ��� ��
�� 
�������� �������� ��#����	� ���
�
�������� � ���������$ � �������$� k���� �� � ���� ����#��� ����
� 	���
�����	�$ ��
�	��"
 �
����� ,���� �	�%����! 
�	��� �
����/������� ±0.5 � 	 ��� -e�
�
�	�$ � �
�! ���c! ���v.�
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